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General Instructions:-

I. All questions are compulsory.

Il. Answer the questions according to their marks.

I11. There are 6 questions carrying 2 marks each out of which 2 questions have internal choice.
IV. There are 6 questions carrying 3 marks each out of which 2 questions have internal choice.
V. Internal choice is given in all the questions carrying 5 marks.

VI. Question number 26 is related to map filling. Must write your roll number on the map
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Part A- All the questions in this part carry 1 mark each. Total marks of this part are 10*1=10.

(1) Who is called the 'Father of Human Geography'?

a) Strabo b) Ptolemy c) Friedrich Ratzel d) Hackle
(2) Which of the following is not one of the human development approaches?
a) Income Approach b) Expenditure Approach
c) Capability Approach d) Welfare Approach
(3) What is the difference in prices between imports and exports called?
a) Balance of trade b) Unbalanced trade
c) Inverse trade d) Favourable trade
(4) The period of highest population growth in India was:
a) 1901-11 b) 1931-41 c) 1961-71 d) 1991-2001
(5) What type of city is Jamshedpur?
a) Industrial b) Mining c) Tourism d) None of these
(6) How many classes are there in Indian cities according to the census of India?
a) 4 b) 5 c) 6 d)7
(7) According to the Census of India 2011, which Indian state has the highest populationdensity?
a) Maharashtra b) Bihar c¢) Uttar Pradesh d) West Bengal

(8) The Golden Quadrilateral route connects which 4 metropolitan cities of India?
(9) Which type of pollution is responsible for diseases like cholera, tuberculosis, diarrhoea?
(10) In which city is the "Dharavi" slum located?

Part B - All the questions in this part are of 2 marks each. The total marks of this part are 6*2=12.
Answer to each question is required in 20 to 30 words.

(11) What is determinism? And who are its promoters?

(12) What is determinism? And who are its promoters?

(13) Define birth rate and death rate.

(14) Give the definition of Human Development Index.(HDI)

(15) Define dry agricultural land and wet agricultural land.
Or
What is the difference between metropolis and megacity?
(16) In the context of a port, what is the hinterland?
Or
What is meant by acid rain?

Part C - All the questions in this part are of 3 marks each. Total marks of this part are 6*3 = 18.
Answer to each question is required in 50 to 70 words.



(17) Explain the difference between nomadic animal husbandry and commercial animal
husbandry.
(18) Why is 1921 called the year of the "Great Divide™ in the context of Indian population?
Answer with reason.
(19) When does a city become an urban agglomeration?
(20) What is sustainable development? Explain with examples.
(21) Why is road transport considered more useful than other means of transport in India?
(Discuss at least 3 points)
or
What do you understand by naturalization of man? Answer with reason.
(22) Throw light on at least 3 facts related to the problem of waste disposal in Indian cities.
Or
What is demographic transition? What are its main 3 stages.

Part D - All the questions in this part are of 5-5 marks. Total marks of this part are
5*3 = 15. Answer to each question is required in 150 to 170 words.

(23) Explain in detail the factors affecting population distribution and population density in
the world.
Or
Into how many parts can the rural settlements in India be classified? Describe in detail.
(24) Write a detailed note on Indira Gandhi Canal Command Area.
Or
While defining “Transport”, classify it on the basis of its various means.
(25) Write a detailed note on the need of rain water harvesting and its methods.
Or
What is water pollution? Elaborate on “Namami Gange Project” highlighting the
factors responsible for water pollution

Part E — This part is related to map work. The total marks of this part are 5.

(26) Show the following on the map of India-
a) Ratnagiri Iron Ore Mine
b) Neyveli Coal Mine
c) Digboi Mineral Qil Field
d) Panipat Mineral Oil Refinery
e) Hooghly Industrial Area



